y
.l. f‘:"‘ﬂ“‘l ﬁ"ll‘\lﬂ]ﬂ]
'i 'l m | 'I“ | .‘
" 1‘.,I. ) \ll"'l illl“
W :

z i t::;l \
| j k:-fl—lﬁﬂ.h‘“;::. I‘.'F:l"‘

11.' ﬂfll ﬂ.h' @#ﬂﬂ ';I”

I

. 1 \
A w‘
Ayt ‘1'.':". ""l
LI
PR

D

Sales department:

?_al:dm'm,.r

"PLA

-vf...,-,a
Ut

{'. - Bartosz Stawik tel. 0 697 340 278 | iyl vty
‘ Tomasz Stawik tel. 0 661 977 326 | /Wiyl

* = || Rotary wheel @38 with
: screw M6

F il Rotary wheel @38 with square metal

plate

(1Y)

www.stawik.pl
e-mail: info@stawik.pl

Certyficate of Quality:
PN-EN 12528
PN-EN 12529

Rotary wheel @38
with axle 6mm and sleeves H14

r

/

,1

7

) 7
@"PRODUCTION PLRNT 'QF

Gy

J)

1
L]

e

LI




S it

P E S Fw e T

ity

155

o R

L)

T
i

TIELTHES,

ais

E i L
FLIEE © | Rotary wheel @40 with [l 7
by screw M8 and M10 [y

R e

) PLL L R - S,
- ' 4 1 ! = - g
]
it
Rotary wheel @40 with P
metal plate U16mm, " ¥
Ul8mm 3

=

Rotary wheel @50 with square metal
plate

Qi

i

@

- 1*-
==
&
L

']
]
a
e
=

Rotary wheel @50
with axle 10mm

Rotary wheel @50
with axle 11mm

Rotary wheel @50
with axle 8mm and sleeves H22, H27

Rotary wheel @40
with axle 8mm and sleeves H13

Rotary wheel @50
with screw M8 and M10

1

BB e 0 w
r1

-

i

8™

'

Rotary wheel @50 with
square metal plate Ul6mm,
Ul8mm




2

caalll
||

T

Ei]

s

Rotary wheel @50/N
with axle 8mm, 10mm and
sleeves H27

FeR

w

Slide foot @45

1y

s

s "E

“ . ‘
L_J

- L1 -

Slide foot triangle

Rotary wheel @50/N
with axle 11mm

Rotary wheel @50/N
with screw M8 and M10

e |

Rotary wheel 50/N
with square metal plate

o D,
L b1 i
1 | '
- o] -
“__
[ - g
- f [ 11
Foot fixed L-140

i

Rotary foot @45
with axle 8mm and sleeves
H22, H27

Rotary foot @50
with axle 8mm and sleeves
H22, H27

I
|
I

3




i Rotary foot @55
2 | with axle 8mm and sleeves
H22, H27

N
e =

Rotary rubber wheel
@50/N with axle 10mm

L ,. Rotary rubber wheel
it | @50/N with axle 11mm

Rotary rubber wheel @50/N
with axle 8mm and sleeves H27

Catch of glass (packs of 1000pcs.)

!___fi |
.-_' \‘-f// .s

'_ /|Rotary rubber wheel @50

with axle 10mm

Rotary rubber wheel
@50/N with screw M8
and M10

.

2
-
& -
!i‘
-y

\..../

J

“|Rotary rubber wheel @50
with axle 11mm

Rotary rubber wheel @50/N with
square metal plate

o5 Rotary rubber wheel @50
with screw M8 and M10




Rotary rubber wheel @50
with square metal plate

| Straight rotary roll medium (plastic and

rubber)

»

with axle 8mm and sleeves H27

Rotary rubber wheel @50

Ul8mm

d L
\ -
! 13 i o
'y u B -
4
K | . :
' 28 "
t Sl I o S
ANl S Rotary rubber wheel @35
with square metal plate

Rotary rubber wheel @35
with axle 8mm and sleeves H27

Straight rotary roll small

|Rotary rubber wheel @50
with metal plate U16mm,

Rotary rubber wheel @35
with screw M8 and M10

Straight rotary roll large (plastic and




—

Straight roll D (plastic and rubber) ! Frontal rotary roll B (plastic and rubber)

J Catches-join
Foot fixed square Foot regulate 50/27 i




Metal Rail i

Plate with Metal Pin

Foot regulate M6x25

Straight rotary roll small

AT T F AT aﬂhﬁu\.\hﬁﬁ\hﬁ\\bﬂh@\\ﬁ\hﬁ,_,humm.... £ .

Bend Hinge small 40mm

S
S
S
<
©
=
%)
)
o)
£
I
-
<
=y
©
&
s
N



By~
g Py

FLRLI " . Fry
"-'.'."“ At Frame for number plate

LR B T SR Py
R s

NIP: 622-011-06-04
The business was established in 1982. tel./fax: +48 62 738 01 54
The highest quality is our priority! www.stawik.pl
e-mail: info@stawik.pl




